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PRIMARY § END-OF-YEAR EXAMINATION

Name: _ { )
Class: Primary 5 ( } Time: 8.00 a.m. - 9.00 a.m.
Parent’s Signature:

Paper 1 comprises 2 bub!daﬁ. Aand B,

MATHEMATICS
PAPER 1

(BOOKLET A) 20

INSTRUCTIONS TO CANDIDATES

Write your name, class and fegister numbey.

Do not turn over this page until you are toki to do so.

Follow all instructions carefy liy.

Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.
You are not allowed to use a calculatos.
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Questions 1 1o 10 carry 1 mark each. Questions 14 to 15 carry 2 marks each.

For sach question, four optiens are given, One of them is the correct answer.

Make your choice {1, 2, 3or4). ' :

Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet. [20 marks}

4. 7000000+80000+300+2=

(1) 7832000
(2) 7800 302
(3) 7080320
(4) 7080302

_ . B
2. How many sevenths are there in § = ?

(1) 72
@) 41
(3) 35
{4) 11

3.  Round 18.455 to 1 decimal place.

(1) 180
(2) 184
(3 185

4 188



4,

The figure is divided info 25 equal parts. What percentage of the figure is

shaded?

{1 9%
@ 8%
{3) 3e%
4 64%

How many mirades are there in 9 h 15 min?

-

(2)

®)
W

Which pair of ines shows the base and height for triangle ABC?

(1

{2)

@
@

465

840
555
215

Bage

BC
BC

“BD

CE

Height
AC
AD
AD
BE
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¥ Which Ene in the squate grid is parailel to AB?

1)
2
3
S

8. Mrs Bala bought some fruits and vegetables from the market.
' 7
The mass of the fruits was 2 B kg. The fruits were 1 % kg heavier than the

vegetables. What was the mass of the vegetables?

(N
(2)
(3)

()

AH
BC
EH
FG

BP-~984



9.

10.

BP~985

Imran ears $4000 a month. He saves 30% of his salary and spends the rest.
How much does he spend in a month?

(1
(2}
(3

4

$120

$280

$1200
- $2800

The table shows the number of plates of chlcken rlce and egg nocdles Auntle
Cheng sold at a schoo! canteer in a week,

On which day did she sell 25 more plates of chicken rice than egg noodies?

I aetaver g

D - JI.Number of plates of Humber ofplates of“ :i
e ay o E:thken rlce ) egg noodles K
Monday 69 44.
Tuesday 70 40
‘Wednesday | 47 72
Thursday 51 68
Friday 85 | 50
() Friday
(2)  Monday
() Thursday
{4}  Wednesday




BP-986

M. ExT7-3)~(12+8+4)=

(1 15
@ 18
@ 22
(4) 57

3 1
12. 75.038 =75+*A‘+""

B
What are the values of A and B?
A B
(1} 10 125
{2) 10 1000
(3) 100 125
@4 100 1000

13. There ara 16 gitls in a class. There are 4 more boys than girls. What is the ratio
of the number of boys to the total number of students in the class? '

() 4:5
{2y 5:4
(3 5:8
4y 9:5
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14, in the figure balow, ADE and CDE are identicaj triangles that overlap partially.
The length of AE is 16 cm and the area of triangle BDE is 15 gm2.
Find the area of the whole figure.
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{) 82cm?
(2} 97 cm?
3y 112em?
8  113.am?
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15. Study the diagram below and answer the following question.

1 step

B

1 step

Peggy was at a certain position. She walked 2 steps due north, 3 sleps due
sast, 1 step due south and then 2 steps due west. She ended at Position X.
What was her starting position?

M A
2 B
3 C
@ D

End of Booklet A
Go on o Booklet B

7
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PRIMARY 5 END-OF-YEAR EXAMINATION

Namae: { )
Class: Primary 5 { ) Time: 800 am. - 8.00 a.m.
Parent's Signature:

Paper 1 comprises 2 booklets, A and B,

MATHEMATICS
PAPER 1
(BOOKLET B)

INSTRUCTIONS TO CANDIDATES

Wiile your name, class and register number.

Bo not um over this page until you are told to do so.
Foilow all instuctions carefully,
Answer all questions.

Wrile your answers in this booldet.

You are mot aliowed to use a caleutator.
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18 to 20 carry 1 mask each. Write your answers in the spaces provided.

Questions ; b
ns which require unils, give yOUF answers in the units stated.  [6 marks]

For questio

16. Find the value of 42 = 8
Give your answer as a mixed number in the simplest form.

Ans:

17.  inthe number line, whatis the decimal represented by A7

1 l : L 1 !
I | g 1 | T}
460 | 4610
A
Ans:
18, Express 30,07 km in metres.
Ans: _ _m

BP-990
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. 1 .
18.  How many degrees are there in a py ~tun?

Ans:

20. The bar graph shows tha number of Primary 5 sludents in each class wearing
spectacies,

Students Wearing Spectacles
20 -

How many students in class 5D wear spectacles?

Ans;




Questions 21 to 30 cary 2 marks each. Show your working clearly in the space
provided for each question and wiite your answers in the spaces provided.
For questions which require unis, give your answers in the units stated. (20 marks)

21.

Uncle Gearge has 30 red pens, 45 green pens and 120 blue pens athis
stationery shop. Find the ratio of the number of green pens to the number of
red pens to the number of blue pens. Give your answar In its simplest form.

Ans:

22.

In a survey of 60 students, it was found that 36 of them do not own mobile
phones. What percentage of the students own mobile phones?

Ans: ) %

23.

Jing Lin watched a movie last night at the time shown on the clock below.
The duration of the movie was 2 hours 15 minutes.
White down the time the movie ended using the 24-hour clock.

BP~992
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24.  Arsctangutar tgnk measuring 30 cm by 40 cm by 70 cm was-completely filled
with milk. Find the volume of milk -Give your answer in ftres.
Ans: - £
25.

Complete the symmaetric figure with the dolted line as the Jine of symmetry,

10
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26. A photocopy machine prints 162 pages in & minutes.
How many pages does the machine printin 10 minutes?

Ans:

27. The total cost of 2 chairs and 1 table is $210. The total cost of 1 chair and
2 tables is $265. What is the cost of 4 chair?

Ans: §

1"



BP-~995

. 9 ‘ 2 s
28.  Cindy was given 7o 1o work on a task_ She took 3 of the given time 1o

complete the fask. How much time had she laft?

Ans: _ h

29, The cost of a pen is $1.80. Siti buys 40 such pens and gives the cashier $100.

How much ehangé does Siti get?

Ans: §_

12
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30. The graph shows the volume of water that fiows from a tap.

s

30 - A mE g

A

Volume 20 )
of water //
T s - :

v

] 1 2 3 4 5 & 1- 8 T
Tima (rain)

At this rate, how many litres of water will flow from the tap in 38 minutes?

End of Bookiet B
End of Paper 1

13



..-Name; - )
Class: Primary 5( ) Time: 10.30 a.m. - 12.00 nicon
Parent's Signature:

MATHEMATICS
PAPER2 |/ 55

| INSTRUCTIONS TO cANDIATES
1. Wile your name, class and register number.
Do not turn over this page until you are told to do so.
Follow all instructions carefully.
Answer ali questions. .
Show your working clearly as marks are awarded for cofféctworking.
- You are allowed to use a calculator.

o N

BP-~997



Quiestions 1o 5 carry 2 marks each. Show your working clearly in the space provided
for eath question and write your answers in the spaces provided. For guestions which

__;equire-uniis_ give your answers in the units stated. - {10 marks) |

f. Ben is thrice as heavy as his sister.. Bén is 57.6 kg. Find their difference in

mass.

Ans: kg

2. AB and CD are straight lines. Find the sum of ZAOD and £BOE.
B
o
Ans:
3. For every 5 pens that Mrs Lee buys, she gets 1 free. if she needs 80 pens, .
what is the least number of pens she has to buy?
Ans:

BP~998



4. Ryan took 2min 3s to finish running & race. Iris was slowar than Ryan by 33s.
How much time did Iris take to finish running the race?
Ans:____ min__ s
5.

Mr Singh bought an equal number of apples and oranges. After he gave away

- 1
29 oranges and bought another 10 apples, he had 3 8BS many oranges as

apples. How many oranges did he have at first?

Ans:

BP-999



For questions § to 17, show your working cleatrly in the space provided for each
question and weite your answers in the spaces provided. - L

The number of marks available is shown in brackets [{ atthe end of each question or
part-question. [48 marks]

8. adinah had 30 m of string. She gave 2.7.m of the stnng to each of her4 friends
and used the rest to wrap some presents for a birthday party. 75 cm of string
was needed for sach present. Find the maximum number of presents she
could wrap.

Ans: (31

7. A tankcwas filed with water up to a height of 11 cm at first. Some water was
added and the new water lovel was 80% of the height of the tank. How much
water was added to it? Give your answer In fitres.

B L s e _ 25cm

-

1 em.

Ans: 3]

BP-1000
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8. Thers are 2200 students in a school. 45% of them are girls. 10% of the boys
do not have any siblings. How many boys do not have any siblings?

Ans: 3
0, Billy took up a part-time job and was paid by the rates as shown in the table.
Days =~ - Rate
Monday to Friday 58 per hour
Saturday and Sunday ) 59.50 per hour

Billy worked 7 hours each day on some weekdays and § hours on a Saturday.
He was paid $271.50 altogether. How many weekdays did he work?

Ans: [3]




10...  Mrs Limprepared 30 chicken wings and 45 nuggets for. her students;

a) i every student took the same amaum of each iype of food without
any lefiover, what was the max:mum hurfibier of studeiits in her tlass?

Ans: 8) 21

b) With the maximum number of students in her class, how many nuggeis
could sach student take?

Ans: b) [1]

BP-~1002
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11. PQRS s a rectangle of Jongth 40 cm and breadth 36 om,
PRand UVR are straight fres and 8T = SU =24 cm,

P e Oom

24 cm

8) Find the area of Triangie PRS.

Ans: a}

[ |

b) Find the shaded area.

~ Ang; b - {3}




12, in the fipure, ABEF is a square, BCDE is 8 traf:ezium and FD is a straight line.
ZABC = 140° an-d ZCDF =71° |

a) Find #BED.

Ans: a) £BED = 2}

b) Find £EFD.

Ans: b) ZEFD = 2]

BP-1004



13,

The tabie below shows the movis schedule at a cinema,

SCREENING NOW
Movie Show Start Time | Duration
Marvel 245p.m [3.10pm | 3.45p.m. 1h 25 min
Diary of Minions | 3.00p.m_ | 6.00p.m. | 8.00p.m. | 5h 30 i
Queen 12.10p.am. [3.48pm.| 7 00pm. 1~ Ihason
Kung Fukid | 3.05p.m. | 6.00p.m. D.05pm. [ 2n

Henry arranged to-mest his friend at 2.40 p-m. to watch a movie together,
However, his friend was 15 minutes Iabe. Henry arrived af [ the ticketing counter

on time. His father would pick hlm up 2 hours later, at the mall where the
cinema was,

a) (i) Which movie couid Henry and his friend watch from start to end?
(ii) What was the start and end time of the movia?

Ans. a) (i} {1]
{ii) Start time: (1]
End time: m

b) His Tather would have 6 walt for at least ariother 25 mihutes if ht had
chosen this movie. Which movie was it?

Ans: b) 1]
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44, At a friendly match, 150 spen'tators weré adults and 15(:4‘ the children were

hoys.

{a) Given that % of the spectators were girls, how many boys were there?

Ans: a) 1K)

{p) How many spectators were at the match altogether?

. Ans:b) - _[1]




15.

- There were 28 students in a class.

The average class score for 3 quiz was 78 marks,
One of the stident's score was wrongly recerded as 43 marks.

The correct average score should be 79.5 marks.

What was the actual score of the student?

[4]

10 .
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46. Yasmin uses circles and triangles to form figures that follow 2 patiern as shown.

Pattern 1 Pattem2 | Pattem3 Patternd Patern 5
OAAA
CAA | OAAA
OA [ OAA |[OAAA
O 00O 000 | 0000
(8) Draw Pattern 5 to complete the table. [1]
{b) Which pattemn has 100 tiangles?
Ans: b} Pattern i1]
(c} Find the total number of circles and tiangles in Patteu-*n 20.
Ans: c} 1

(d) Each of the statements is either true, folse or not possible fo tell from the
information given. For each statement, put a tick () to indicate your answer.

Statement

True

Fafse

Mot
possible
fo tell

(i) The ratio of the number of circles in
Pattern 26 to the manber of circles in -
Pattern 32is 9 : 7. :

(i} The ratio of the number of circles to the
number of triangles in Pattern 100 is
199 ; 8801,

121

14
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17.
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Puring an overseas vacatlon, Rita and Sarah had the same amount of

allowance. Each day, Rita spent $4 and Sarah spent $6. At the end of the
vacation, Sarah had $12 left, while Rita had 4 times as much maoney as Sarah,

(@) How many days did the vacation last?

Ans: a) : 3]

(b) How much was each gir's aliowance af first?-

Ans: b} [2]

End of Paper 2

12
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SCHOOL : TAO NAN PRIMARY SCHOOL
LEVEL PRIMARY 5

SUBJECT : MATH

TERM : SA2

PAPER 1 BOOKLET A

PAPER 1 BOOKLET B

Q16) 42+g=5:

Q17) 4.608
Q18) 30070m

Q19) 360° x 2=90°

Q20) 14

Q21) G:R:B
3:2:8
Q22) 60— 39 = 21

Z=T_ 35 _ago

60 20 100

Q23) 2330

Q24) 30x40x70 =84 000
84 000ml =84 L
Answer: 84L

Q25)

. 7 . . u

Pgi




Q26)

6 min -» 162 pages
2 min - 54 pages
10 min > 54 x5 = 270 pages

Q27}

2C+17T=210
1C+2T=285

1T =210-2C

1C +2(210-2C) = 285
-3C +410=285
410-285=3C
1C = $45

Q28)

60 min xfﬂ-= S4min
2_1
1-3=3
B4 minx 1/3= 18 min
3

18
Ans: —=—
60 1

Q29)

1.8 x40=72
100-72=28
Ans: $28

Q30)

7 min = 2561
35min = 25L. x 5 = 125L

PAPER 2

Q1)

3 u > 576kg
1u->192kg
2u => 38.4kg
Ans: 38.4kg

Q2)

360° — 43° - 43° — 39° = 235°

Q3)

5+1=6
80 *6 =13R2
5x13+2=67

Q4)

2min36s

Q5)

3u>10+29=39
1u>39"3=13
13 +29=42
Ans: 42

Q8)

2.7x4=108

. Pg2
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30-10.8=192
19.2m = 1920 cm
1920 * 75 = 25R4

Ans: 25
Q7) 25x4/5=20
. Bx11x11=1573
13 x 11 x 20 = 2860
28680 — 1573 =1287
1287ml = 1.287L
Ans: 1.287L
Q8) % number of boys = 100% - 45% = 55%
No. of boys = 2200 x 55% = 1210
No. of boys(no siblings) = 1210 x 10% = 121
Q8) Saturday -» $950 x5 = $47.50
$271.50 - $47.50 = 3224
One weekday - $8 x 7 = $56
No. of weekdays = $224 * $56 = 4
Ans: 4
Q10) a)
Common factors of 30 and 45: 1,34 and 15
Highest common factor: 15
Ans:15
b)
45*5=3
Ans: 3
Q11) (a) Area=%x 40 x 36 = 720
Ans: 720 cm?
(b) 36 —24 =12 )
Yax12x24 =144
% x24 x40 = 480
Shaded area = 720 -144 — 480
=96 cm?
Q12) (a) 360°—140° - 90° = 130°

180° - 130° = 50°

(b) 90° — 71° = 19°
50° —90° = 140°
180° — 140° ~ 19° = 21°

Pe3
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Q13)

a) (i) Marvel
(i) 3.10pm
(tii}4.35pm

b) Kung Fu Kid

Q14)

a) Girls > 2/8
Boys -> 1/8
Aduits > 5/8
118 u->150*5=30
There were 30 boys

b) 30x 8 = 240

Q15)

28 x 78 = 2184 -
79.5 x 28 = 2226

2206 -2184 = 42

43 + 42 = 85 (Ans)

Q16

Q0AAAA
OAAAA
OAAAA
CAAAA
0000

(b) Number of triangles in pattern = (Pattem number -1) x (Pattern number -1)

100 = (11 -1) x (11 -1)
Therefore pattern 11 has 100 triangles

(©)20-1=18
19x 19 =361
1+2x19=68
361 + 39 = 400
Ans: 400

(dKi)False
(ii)True

Qi17)

a) $6-%4 =9$2
Rita > $12x4=$48
. Difference > $48 - $12 = $36
$36*3%2=18
~ Ans: 18 days

by 48 + 72 = $120

Pg4
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